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4 @Reasoningbybasantsir

Julie starts her journey from point ‘Z’ and walks 10km
east to reach point ‘Y’ then she turns to her left and walks
3km to reach point ‘R’ and then she turns to her left again
and walks 12km to reach point ‘S’. Again, she turns to her
left and walks 3km to reach point ‘E’. Finally, she took to
her right and moves for another 4km to reach point J.
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Julie starts her journey from point ‘Z’ and walks 10km
east to reach point ‘Y’ then she turns to her left and walks
3km to reach point ‘R’ and then she turns to her left again
and walks 12km to reach point ‘S’. Again, she turns to her
left and walks 3km to reach point ‘E’. Finally, she took to
her right and moves for another 4km to reach point J.
Point E is in which direction with respect to the point R?

(a) South west
(b) North west
(¢c) North east
(d) North

(e) South east
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Julie starts her journey from point ‘Z’ and walks 10km
east to reach point ‘Y’ then she turns to her left and walks
3km to reach point ‘R’ and then she turns to her left again
and walks 12km to reach point ‘S’. Again, she turns to her
left and walks 3km to reach point ‘E’. Finally, she took to
her right and moves for another 4km to reach point J.

If point K is southwest of Y and 8km south of point Z then
what is the shortest distance (Approx) between point K
and point Y?

(a) 10 km
(b) 13 Km
(¢) 8 Km

(d) 11 Km
(e) 15 Km
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Julie starts her journey from point ‘Z’ and walks 10km
east to reach point ‘Y’ then she turns to her left and walks
3km to reach point ‘R’ and then she turns to her left again
and walks 12km to reach point ‘S’. Again, she turns to her
left and walks 3km to reach point ‘E’. Finally, she took to
her right and moves for another 4km to reach point J.
Which among the following is to the northwest of Point Z.?

(a) Point J
(b) Point E
(¢) Point S
(d) Point R
(e) PointY
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In the given word ‘MOTIVATION’ if the vowels are
changed to the next letters and the consonants are changed
to the previous letters as per the alphabetical series, then
which letter/letters are repeated more than once?

z% 9s8 '"MOTIVATION' # I SUMTET hl h HTAN
1%3411% TR H T2 @T SATU 3R AT vl UD e
T W TeT fIT AT, A7 Shi 6T ST/ALR Ueh O Tk IR

ST ST 82

(a) One
(b) Two
(¢c) Three
(d) Four
(e) None
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If 2 is added to each even digit and 1 is subtracted from
each odd digit in the number 945217, then what will be the
sum of number/numbers not repeated in the new number?

Tfe AT 945217 W Ucdieh OW 3ich | 2 SIST AT A U<k
oo ofeh W 1 TeTaT AT, AT A3 @EAT U E RIS
TEHT/ETEITAT ST THT AT BT

(a) 6
(b) 8
(c) 4
(d) S
(e) 7
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How many pair of letters are there in the word
“EFFECTIVE” which has as many letters (in both
forward and backward direction) in between as they have

in English alphabet series?

91sg "EFFECTIVE" H 31811 o fehad II1g 2 R frar v
I & 378 F (3T 3R Ui S feomet o) e st
FUTHTEAT G H Bld 87

(a) One

(b) Two

(c) Three

(d) Four

(e) None One these



Nine boxes A, B, C, D, E, F, G, H, and I are kept one
above the other not necessarily in the same order. Three
boxes are kept between A and B. Equal number of boxes
are kept above and below A. Number of boxes kept above
B is same as the number of boxes kept below C. Only two
boxes are kept between C and 1. One box is kept between
A and G, which is not kept immediate above 1. No box is
kept between F and D, which is not kept above F. E is
placed below H, which is kept immediate below D.

T T A, B, C, D, E, F, G, H, 3 | & Uk ok FUI Uk TGT
T B S feh STt T2t foh SEt sh| W B A TR B & g o1
oo T MU §| A o U SR i o0 96T H fead @ MU
F1 B o T30 W U FF61 h G&AT C & 1A T 7T Tt <kl
TEAT & THTE Bl C 3R 1 % <1 ShleT 31 e T T 8| Ueh
AT & A R G o ST [T 7T 8, T 1 o 3ieh Sy 8
TET 7T 2l F 3 D o i< hig are T @1 T 8, it F
SR TE T AT 2l E St H & < W@r = g, ™| D & 3o
<o W T B
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Nine boxes A, B, C, D, E, F, G, H, and I are kept one
above the other not necessarily in the same order. Three
boxes are kept between A and B. Equal number of boxes
are kept above and below A. Number of boxes kept above
B is same as the number of boxes kept below C. Only two
boxes are kept between C and 1. One box is kept between
A and G, which is not kept immediate above 1. No box is
kept between F and D, which is not kept above F. E is
placed below H, which is kept immediate below D.

How many boxes are kept between F and A?

(a) None

(b) Two

(¢) One

(d) Three

(e) More than three
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Nine boxes A, B, C, D, E, F, G, H, and I are kept one
above the other not necessarily in the same order. Three
boxes are kept between A and B. Equal number of boxes
are kept above and below A. Number of boxes kept above
B is same as the number of boxes kept below C. Only two
boxes are kept between C and 1. One box is kept between
A and G, which is not kept immediate above 1. No box is
kept between F and D, which is not kept above F. E is
placed below H, which is kept immediate below D.

Which box is kept immediately below H?

(a) I
(b) F
(c) D
(d) E
(e) None of these
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Nine boxes A, B, C, D, E, F, G, H, and I are kept one
above the other not necessarily in the same order. Three
boxes are kept between A and B. Equal number of boxes
are kept above and below A. Number of boxes kept above
B is same as the number of boxes kept below C. Only two
boxes are kept between C and 1. One box is kept between
A and G, which is not kept immediate above 1. No box is
kept between F and D, which is not kept above F. E is
placed below H, which is kept immediate below D.

Four of the following five are alike in a certain way and so
form a group, find the one which does notbelong to the
group.

(a) AG
(b) BD
(¢c) FH
(d) IC
(e) DA
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Nine boxes A, B, C, D, E, F, G, H, and I are kept one
above the other not necessarily in the same order. Three
boxes are kept between A and B. Equal number of boxes
are kept above and below A. Number of boxes kept above
B is same as the number of boxes kept below C. Only two
boxes are kept between C and 1. One box is kept between
A and G, which is not kept immediate above 1. No box is
kept between F and D, which is not kept above F. E is
placed below H, which is kept immediate below D.

Which of the following pairs represent the lowermost and
the topmost box?

(a) EF
(b) EB
(¢c) CB
(d) CF
(e) None of these
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Nine boxes A, B, C, D, E, F, G, H, and I are kept one
above the other not necessarily in the same order. Three
boxes are kept between A and B. Equal number of boxes
are kept above and below A. Number of boxes kept above
B is same as the number of boxes kept below C. Only two
boxes are kept between C and 1. One box is kept between
A and G, which is not kept immediate above 1. No box is
kept between F and D, which is not kept above F. E is
placed below H, which is kept immediate below D.

Which of the following statement is / are true?

(a) Only one box is kept between F and A
(b) All of the given statements are true

(¢) Three boxes are kept between E and H
(d) Iis kept immediately below G

(e) None of the given statement is true
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Statements:
Some A are B.
All B are C.

Only a few D are C.

Conclusions:
I. Some D are not A.
II. Some D are not B.

(a) Only conclusion I follows

(b) Only conclusion II follows

(¢) Both conclusion I and II follow
(d) Either conclusion I or II follows
(e) Neither conclusion I nor II follows
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Statements:

Some Sparrow are Parrot
Only a few Parrot are Camel
All Camel are Goats.

Conclusions:
I. All Sparrow are Parrot.
II. Some Parrot are not Camel

(a) Only conclusion I follows

(b) Only conclusion II follows

(¢) Both conclusion I and II follow
(d) Either conclusion I or II follows
(e) Neither conclusion I nor II follows
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Statements:

Only a few Bus is Car.
Some Car is Train.
Some Train is Truck.

Conclusions:
I. Some Car is Truck.
II. All Bus being Car is a possibility.

(a) Only conclusion I follows

(b) Only conclusion II follows

(¢) Both conclusion I and II follow
(d) Either conclusion I or II follows
(e) Neither conclusion I nor II follows
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Statements:
PSQ<S=T2U2W<Z

Conclusions:
I. S>W
II. W=T

(a) Only conclusion II is true

(b) Either conclusion I or Il is true
(c) Both conclusion I and II are true
(d) Neither conclusion I nor 11 is true
(e) Only conclusion I is true



Statements:
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Conclusions:

I. GSD
II. G>D

(a) If only conclusion I follows

(b) If only conclusion II follows

(¢) If either conclusion I or conclusion II follows
(d) If neither conclusion I nor conclusion II follows
(e) If both conclusions follow

uf @Reasoningbybasantsir
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Conclusions:
I. H>Y
II. Y>H

(a) Only 1L is true

(b) Only Il is true

(¢) Either I or I1 is true
(d) Both I and 11 is true
(e) Neither I nor 11 is true

Z @Reasoningbybasantsir
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Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.
ATa AE A, C, P, L, J, K, F Ueh TATHRT BT & IRT TR AS &
SAfeh &L ET {oh g6t ShH | BTl ITH W el a1 ol HE S hT
3R 2 F & T2 3R & Fet a3 WX F 31K P & ofier 17 safwh 96 2
L, K o 973 3T 6 T UT a7 &, Rt 7@ oiat &l TR L, A
a1 F w7 fAehead Ut 781 81 K & g1 fsheaw ueifeat s 7@ K
| [ o STl H oS S Txh oh! W AT hl
AR A, F o Sieh aTE 3R T8T § o arex b1 oI 7@ fhu gu ) J
T F TR T8 P T [Heheaw ugiHt 21 L, P o 3ieh 918 37X 93T 2
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Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.

Who is sitting to the immediate right of J?

GV
(b) C
(c) F
(d) L
(e) A
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Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.

How many persons are sitting between K and P?

(a) 1
(b) 2
(c) 4
(d) 3
(e) Either 2 or 3 persons
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Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.

If A and L interchange their positions, who will be sitting to the
third left of L?

(a) P
(b) K
(© A
(d) L
(e) None of these
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Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.

Four of the following five are alike in a way and hence form a
group. Choose the one that does not belong to the group.

(a) F
(b) K
(c) J
(d) L
(e) A
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Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.

Who is sitting to the fifth right of F?

(a) A
(b) L
(c) P
d K
Qe
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Eight members of a family are living in a house, in
which two are married couples. N is the father of D.E
is married to N. G and D are siblings. C is married to
G. N has no son. K is the father of E. Q is the only son
of C. A is the brother-in-law of N. ’

Ueh UNER ok 3116 U Ush T W & ® 8, ’ma ar
foattea g €1 N, D &1 fusT 21 E &7 foramg N & ga1 &)
G T D WTE-91g & C 1 forame G A g I N shials
g 81 81 K, E T fUaT 81 Q, C T SheAlat UA 8l A, N
<hT STEL-3-¢T 8|
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Eight members of a family are living in a house, in
which two are married couples. N is the father of D.E
is married to N. G and D are siblings. C is married to
G. N has no son. K is the father of E. Q is the only son
of C. A is the brother-in-law of N.

Who among the following is the son-in-law of N?

(@) G
(b) K
(¢) C
(d) Q
(e) None of these



Eight members of a family are living in a house, in
which two are married couples. N is the father of D.E
is married to N. G and D are siblings. C is married to
G. N has no son. K is the father of E. Q is the only son
of C. A is the brother-in-law of N.

How K is related to D?

IBPS PO 2020
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(a) Father

(b) Uncle

(¢) Grand Mother
(d) Grand Father
(e) None of these

% @Reasoningbybasantsir
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Eight members of a family are living in a house, in
which two are married couples. N is the father of D.E
is married to N. G and D are siblings. C is married to
G. N has no son. K is the father of E. Q is the only son
of C. A is the brother-in-law of N.

Which of the following statement is true?

(a) K is the mother of A

(b) D and C are Siblings

(¢) Qis the son of A

(d) N is the husband of E
(e) None is correct
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Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.
gie 4 T, N, R, C 3R Gmﬂéwwm% S-3TeT
famt o TR T, SrfeRa St A TR ST sRE | B A T, Yor, S,
THeT AR o= S fafir= Terie & /a2 ugaa o) 39 an | Al
AR fer §t 718 2, |l AR ST Uge ATt safwdi o sfte i
<k AT MU T A W hT HUST UEAT R C & a1e foret ver im
AT C  fof= 781 98Tl R TR N & &fter & a3t aTeR U R 3R G
F THST TET UEAT ATl N ¥ Ugel STSTR ST JTel Sahal ehi 9&aT N 6
gawaﬁaﬁaqﬁm‘iaﬁﬁwﬁ 31Tereh Bl C AHAR i FTER
=l
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Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.

Who went to the market on Monday?

(a) C
(b) R
(¢c) G
(d N
(e) None of these
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Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.

C wore which type of cloth?

(a) Leather

(b) Linen

(¢) Cotton

(d) Wool

(e) Either 1 or 2
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Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.

How many persons went to the market between T and N?

(a) One
(b) Two
(¢c) Zero
(d) Three
(e) Four
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Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.

Who went to the market at the first and last respectively?

(a R,C
(b) G,N
(¢ T,N
d G,R
() C,N
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Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.

Which of the following statement is false?

(a) R did not go on Friday.

(b) C did not wear Leather.

(¢) One person went to the market between the persons who wore
Wool and Leather.

(d) N went on Thursday.

(e) C and T went to the market on consecutive days.
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